
Converting between metric units 

Watch these clips: https://www.youtube.com/watch?v=URwMPphTvv8 

https://www.youtube.com/watch?v=zLRv028h9Is 

 

You might want to keep referring to this conversion chart. 

Remember you are moving the decimal place 3 places when x and ÷ by 1,000  

 

 

1. Convert these measurements 

                

2. Compare the measurements using < > or =

 
 

3. A pack of strawberries weighs 500g.  A bunch of bananas weighs 500g 

 

https://www.youtube.com/watch?v=URwMPphTvv8
https://www.youtube.com/watch?v=zLRv028h9Is


ANSWERS 

1.  

         

2.  

 

3. Beth is correct. 2 packs of strawberries weigh 1,000g. 1,000g is equivalent to 1kg. 1kg of strawberries cost 

£4.00. 

Jack is not correct. 4 x 500g = 2,000g. 2,000g is equivalent to 2kg. 2 x £3 = £6 so 4 bunches of bananas would cost 

£6.00  


